[PACKET §.5: CONDITIONS FOR RHOMBUSES, RECTANGLES
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Can you conclude that the parallelogram is a rhombus, a rectangle, or a square? Explain.
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For what value of x is the figure the given special parallelogram?
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For Exercises 11-14, determine whether the parallelogram is a rhombus, a rectangle, or a
square. Give the most precise description in each case.

11. A parallelogram has perpendicular diagonals and angle measures of 45, 135, 45, and 135.
Rhombus: Perpendicular diaqonals
12. A parallelogram has perpendicular and congruent diagonals.

Square
13. A parallelogram has perpendicular diagonals and angle measures that are all 90.

Square: Perpendicular diagonals (rhombus) with right angles (rect)

14. A parallelogram has congruent diagonals.

Rectanqgles
15. For what value of ris the parallelogram a rhombus? '
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Solve each equation for x!
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3, (2x + 3Xx - 2) 4. 237 = 3x + |

ALgebra Review

1. —3x — 3= -3(x - 10) 2. 0.5(yx = 2) = 2 = 1.8x

5. Graph the equation: 6. Graph the equation:
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